C:E Subtraction within 20

Name:
Solve each problem. Answers
1) At the zoo Janet took sixteen pictures. If her sister took another two
pictures, how many did they take total? 1
2.
2) Cody spent $9. Now he has $10. How much did Cody have before
he spent his money?
3.
3) At the arcade Mike spent three tickets on stuffed tiger. Then he had 4,
five left. How many tickets did Mike have to start with?
5.
4) There were seven people on the bus. At the next stop six more
people got on the bus. How many people are there on the bus now? 6.
7.
5) For lunch the cafeteria gave out two apples and had eleven apples
left over. How many apples did they have to start with? o
6) Will had thirteen cherries. After eating some, he had eight left. How 9.
many cherries did Will eat?
10.
7) Robin had nine fish and her sister had seven fish. How many fish
did they have total? 11.
12.
8) A fast food restaurant had eleven hotdogs. They sold seven. How
many hotdogs do they have |eft?
9) A clown had fourteen balloons. After a party he had seven left. How
many balloons did he use at the party?
10) Olivia's hair was thirteen inches long. If she cut off eight inches,
how long is her hair now?
11) Kaleb gave away six of hisvideo gamesto afriend. Now Kaleb has
nine games. How many games did Kaleb have before he gave the
games away?
12) At aring toss booth Tom had ten rings. After using some, he had
seven left. How many rings did Tom use?
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Solve each problem. Answers
1) At the zoo Janet took sixteen pictures. If her sister took another two Add To
pictures, how many did they take total? (Result Unknown) || 1. 18
2 19
2) Cody spent $9. Now he has $10. How much did Cody have before Take From
he spent his money? (Start Unknown) 3
3.
3) At the arcade Mike spent three tickets on stuffed tiger. Then he had Take From 4 13
five left. How many tickets did Mike have to start with? (Start Unknown)
5. 13
4) There were seven people on the bus. At the next stop six more AddTo
people got on the bus. How many people are there on the busnow?  (Result Unknown) || 6. S
7 16
5) For lunch the cafeteria gave out two apples and had eleven apples Take From
left over. How many apples did they have to start with? (Start Unknown) o 4
6) Will had thirteen cherries. After eating some, he had eight left. How Take From 9. /
many cherriesdid Will eat? (Change Unknown)
10, S
7) Robin had nine fish and her sister had seven fish. How many fish AddTo 15
did they have total? (Result Unknown) || 1%
12 3
8) A fast food restaurant had eleven hotdogs. They sold seven. How Take From
many hotdogs do they have |eft? (Result Unknown)
9) A clown had fourteen balloons. After a party he had seven left. How Take From
many balloons did he use at the party? (Change Unknown)
10) Olivias hair was thirteen inches long. If she cut off eight inches, Take From
how long is her hair now? (Result Unknown)
11) Kaleb gave away six of hisvideo gamesto afriend. Now Kaleb has Take From
nine games. How many games did Kaleb have before he gave the (Start Unknown)
games away?
12) At aring toss booth Tom had ten rings. After using some, he had Take From
seven left. How many rings did Tom use? (Change Unknown)
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C:E Subtraction within 20

Name:

Solve each problem.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

At the zoo Janet took sixteen pictures. If her sister took another two
pictures, how many did they take total?

Cody spent $9. Now he has $10. How much did Cody have before
he spent his money?

At the arcade Mike spent three tickets on stuffed tiger. Then he had
five left. How many tickets did Mike have to start with?

There were seven people on the bus. At the next stop six more
people got on the bus. How many people are there on the bus now?

For lunch the cafeteria gave out two apples and had eleven apples
left over. How many apples did they have to start with?

Will had thirteen cherries. After eating some, he had eight left. How
many cherries did Will eat?

Robin had nine fish and her sister had seven fish. How many fish
did they have total?

A fast food restaurant had eleven hotdogs. They sold seven. How
many hotdogs do they have left?

A clown had fourteen balloons. After a party he had seven left. How
many balloons did he use at the party?

Olivias hair was thirteen inches long. If she cut off eight inches,
how long is her hair now?

Answers

10.

C

Modified
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